MINUTES OF MEETING OF PROCUREMENT COMMITTEE, FOR PROCUREMENT OF FOOD & QUALITY CONTROL DEPARTMENT'S WORKS FOR THE YEAR 2016-2017 FOR OPENING WORK OF EVALUATION OF BID HELD ON 04-05-2017AT 2.30 P.M. IN THE OFFICE OF THE SENIOR DIRECTOR FOOD & QUALITY CONTROL, DEPARTMENT. K.M.C (CHAIRMAN PROCUREMENT COMMITTEE)

The meeting of Procurement Committee for opening of Civil / Electrical/Horticultural bid and Evaluation of Civil/electrical/horticultural proposal for procurement of the following works was held on 04-05-2017 at 2.30 P.M. In The Office Of The Senior Director Food & Quality Control, Department. K.M.C

s.NO.	NAME OF WORKS
1	PROVISION OF ESSENTIAL INSTRUMENTS OF FOOD LABORATORY KMC
	(PURCHASE OF LABORATORY INSTRUMENTS / EQUIPMENTS ).

The Procurement Committee constituted by the Competent Authority under No. letter No. Sr. Dir (HRM)/ KMC/ 2017/976, dated 11-04-2017:-

1.	Senior Director, F&QC, KMC	Chairman
2.	Public Analyst, F&QC, KMC	Member
3.	Chief Medical Officer, DMC(Central)	Member
4.	Chief Food Inspector, F&QC, KMC	Member
5.	Asstt.Accounts Officer, F&QC, KMC	Member

PROCEDURE: Single stage one envelope bidding procedure:

The Tender Notice was through website SSPRA/KMC with the above mentioned work proposal opening dated 04-05-2017 and also hoisted on the Sindh public Procurement Regulatory Authority Government of Sindh, Karachi vide his SPPRA Serial No. \_\_\_\_\_\_ The Bidding documents were available for sale at the office of the Office Of The Senior Director Food & Quality Control, Department. K.M.C. the work proposal was opened on 04-05-2017 in the presence of the bidders or their authorized representatives, as under:-

S.NO.	NAME OF FIRMS (whose purchased the bidding form/documents)
1	M/s Qalander Bux Abro & Co.
2	M/s Hussain Enterprises
3	M/s Abra Construction Co

#### BIDDERS FOR CIVIL/ELECTRICAL/HORTICULTURAL WORKS:

1	M/s Qalander Bux Abro & Co.	
2	M/s Hussain Enterprises	
3	M/s Abra Construction Co	

As per evaluation reports, the all firms have fulfilled the requirements mentioned in the criteria of tender for procurement of civil / electrical / horticultural .

The bidder status is as under:

For the work at Sr. No. 1 (A) PROVISION OF ESSENTIAL INSTRUMENTS OF FOOD LABORATORY KMC (PURCHASE OF LABORATORY INSTRUMENTS / EQUIPMENTS )

1	M/s Qalander Bux Abro & Co.	Rs.1,20,00,000/-	1 <sup>st</sup> Lowest
2	M/s Hussain Enterprises	Rs.1,21,19,997/-	2 <sup>nd</sup> lowest
3	M/s Abra Construction Co	Rs.1,22,40,000/-	3 <sup>rd</sup> lowest

RECOMMENDATIONS: The offered amount of @ Rs.1,20,00,000/- (Rupees One Crore and Twenty lacs only) for M/s Qalander Bux Abro & Co, Karachi, is recommended by the committee to award them work being the first lowest.

A.A.O.(F&QC)

K.M.C.

Member

**Public Analyst** F&QC KMC

Member

Chief Medical officer

F&QC KMC Member

**Chief Food Inspector** 

F&QC KMC Member

F&QC KMC

# COMPERATIVE STATEMENT (A) PURCHASE OF LABORATORY INSTRUMENTS / EQUIPMENTS.

			(1)	A STATE OF THE REAL PROPERTY.	(2	)	43	3)	
4			M/s.Qalauder Bux Abro	&Co.	M/s.Hussain Ent	terprises	M/s. Abra Con	stuction	Remarks
em #	Description	Req.Qty.	Quoted Rate/Unit	Amount	Quoted Rate/Unit	Amount	Quoted Rate/Unit	Amount	
1	FLAME PHOTOMETER  Five Element Measurement in a Single aspiration (Na,K,Li,Ca,Ba) Curve Calibration using up to 05 standards. Calibration curve fit routines first order and second order multiple calibration curve saving facility, sample data storage. Printer attachment. Data displayed in concentration units, i & ppm.meq. etc.	01No.	1049000	1049000	1059490	1059490	1069980	1069980	
2.	MUFFLE FURNACE Capacity 12-14 Liters, Max. Temp :300 C-1200 C Working Temp 800C-1100C	01No.	1254000	1254000	1266540	1266540	1279080	1279080	
3	AIRSTRÉAM CLASS-II BIOLOGICAL SAFETY CABINETS 4FT. The Industries most energy efficient class-II cabinet. Superior product, operator and cross-contamination protection with advanced technology. The cabinet work zone has no welded joints to collect contaminants or rust.	01No.	1257600	1257600	1270176	1270176	1282752	1282752	
4.	LED DIGITAL MAGNETIC HOTPLATE STIRRER.  LED Display target and actual temperatures. Speed Range is 0-1500 rpm. Lemperature upto 550 C. Stainless Steel with ceramic coated hot plate.	01No.	159000	159000	160590	160590	162180	162180	
5.	WATER PROOF pH METER PORTABLE / BENCH TOP Warranty: at least 03 years	01 No.	132500	132500	133825	133825	135150	135150	
6.	MINI CENTRIFUGE MICRO SPIN Rotor 12x1.5/2 ml Micro tubes Max Speed 14500 rpm Lemp +4C to +25 C.	01 No.	368200	368200	371882	371882	375564	375564	
17.	DRY BLOCK HEATER, DIGITAL, AMBIENT +5 C TO 130 C. Blocks (Interchangeable B/w OBA, OBD and QBH units)	01 No.	367500	367500	371175	371175	374850	374850	
08	BINOCULAR MICROSCOPE Achromatic Objectives. 4x10x40x100x(Oil),X-LED with brightness control	01 No	157500	157500	159075	159075	160650	160650	
(19		01 No	1260000	1260000	1272600	1272600	1285200	1285200	
10	FORCED CONVECTION LABORATORY OVEN Microprocessor PID Controlled Dual Display Digital Capacity 32-54 Liters	01 No	365750	365750	369407	369407	373065	373065	
11	FORCED CONVECTION LABORATORY INCUBATOR Microprocessor PID Controlled Dual Display Digital Capacity 32-54 Liters	01 No	365750	365750	369407	369407	373065	373065	
12	ORBITAL SHAKER-INCUBATOR MINI Included Platform: Universal Platform, with adjustable bars	01 No	522500	522500	527725	527725	532950	532950	
13	DIGITAL-20 FREEZER	01 No	840000	840000	848400	848400	856800	856800	
14	Size 16.9 Cft 112 SERIES LABORATORY REFRIGERATOR	01 No	627000	627000	633270	633270	639540	639540	
15	Capacity 170 Liters / 5.7 Cft. IR Sensor, C02, Control, Ultra Moist Heat Decon. Temperature	01 No	1354000	1254000	1266540	1266540	1279080	1279080	Oui
, ,	Range Anno 3 to 60  Sixer Col (Rober)  C. Lair man  C. Lair man  Nember	(	public AV	algut	11	- ' 'D	di cul Mc(1) Lev	C	· t. ( trac

## COMPERATIVE STATEMENT (A) PURCHASE OF LABORATORY INSTRUMENTS / EQUIPMENTS.

			(1)		(2)		(3)		Remarks
			M/s.Qalauder Bux Abro &Co.		M/s.Hussain Enterprises		M/s. Abra Constuction		
m	- Description	Req.Qty.	Quoted Rate/Unit	Amount	Quoted Rate/Unit	Amount	Quoted Rate/Unit	Amount	
6	FLAT-BED ORBITAL ROTATOR WITH UNIVERSAL PLAT FORM Universal Platform with adjustable bars. Warranty at least 02 years	01 No	364000	364000	367640	367640	371280	371280	
7	WATER DISTILLATION UNIT (SINGLE DISTILLATION) Output: 4 litters / Hours	01 No	130000	130000	131300	131300	132600	132600	
8	MICRO-PIPETTE SINGLE CHANNEL Size 0.1-2.5 ul Size 0.5-10 ul Size 10-100 ul Size 100-1000ul	01 No 01 No 01 No 01 No	26050 26050 26050 26050	26050 26050 26050 26050	26310 26310 26310 26310	26310 26310 26310 26310	26571 26571 26571 26571	26571 26571 26571 26571	
9.	COLONY COUNTER WITH PC SOFTWARE Accessories - EU Plug (100-240 V), PC Software, user manual, service manual	01 No	180500	180500	182305	182305	184110	184110	
90	Lab Burner	01 No	2600	2600	2626	2626	2652	2652	
21	Electric Loop Sterilizer	01 No	N/Q	N/Q	N/Q	N/Q	N/Q	N/Q	
22	CHEMICAL FUME HOOD External Size (WyDxH): 1204x782x2284 mm. Lining Material - Phenolic Resin Mas Opening:720 mm.	01 No	1238400	1238400	1250784	1250784	1263168	1263168	
	Total		1.20.00.000	1,20,00,000	1,21,19,997	1.21,19,997	1,22,40,000	1,22,40,000	

A. Dun

A.A.O. (F&QC) K.M.C. Member Public Analyst F&QC KMC Member Chief Medical Officer DMC Central Member Chief Food Inspector F&QC KMC Member

Sr. Director F&QC KMC Chairman



#### **BID EVALUATION REPORT**

1. Name of Procuring Agency:

Karachi Metropolitan Corporation.

2. Tender Reference No:

Work/ Item

3. Tender Description/Name of work

DIR(F&QC)/KMC/590/2017 Dt 06-04-2017

Provision of essential instruments of Food

Laboratory KMC (Purchase of chemical &

solution)

4. Method of Procurement

Single Single- One Envelope Procedure

5. Tender Published

Through press/Website SPPRA/KMC

6. Total Bids documents Sold

7. Total Bids Received .

Three

8. Technical Bid Opening date (if applicable)

Nil (provide details in separate form)

9. No. of Bid Technically qualified (if applicable)

Nil.

10. Bid (s) Rejected:

Nil

11. Financial Bid Opening date

04-05-2017

12. Bid Evaluation Report:

S.#	Name of Firm or Bidder	Cost of offered by Bidder	Ranking in terms of cost	Comparison with Estimated cost	Reasons for acceptance/ rejection	Remarks
1	M/s Qalander Bux Abro & Co.	Rs.1,20,00,000/-	1 <sup>st</sup> Lowest	At par /Above / Below the estimated cost	Qualified as per evaluation criteria	Recommended for award of work
2	M/s Hussain Enterprises	Rs.1,21,19,997/-	2 <sup>nd</sup> lowest	At par /Above / Below the estimated cost		
3	M/s Abra Construction Co	Rs.1,22,40,000/-	3 <sup>rd</sup> lowest	At par /Above / Below the estimated cost		

<u>RECOMMENDATIONS</u>: The offered amount of @ Rs.39,93,720/- (Rupees Thirty nine Lac ninety three thousand seven hundred and twenty only) of M/s. Qalander Bux Abro & Co, Karachi, is recommended by the committee to award them work being the first lowest.

A.A.O.(F&QC) K.M.C.

Mamban

Member

Public Analyst F&OC KMC

Member

Chief Medical officer F&QC KMC

Member

Chief Food Inspector F&QC KMC

Member

Sr.Director F&QC KMC

COMPERATIVE STATEMENT (B) PURCHASE OF LABORATORY CHEMICALS / SOLUTIONS

			(1)		(2)		(3)		
			M/s Qalauder Bux Abro &Co.		M/s. Abra Constu	ction	M/s. Hussain Ente	rprises	Remarks
tem #	Description	Req.Qty.	Quoted Rate/Unit	Amount	Quoted Rate/Unit	Amount	Quoted Rate/Unit	Amount	
	Chloroform	10 Ltrs.	Each 2.5 ltr 16725/-	66900	17562	70248	17700	70800	
2	lodine Tri-Chhloride	200 Gram	Each 100grm 44600/-	89200	46829	93658	46900	93800	
3	Lodine Crystal	100 Gram	Each 100grm 36795/-	36795	38634	38634	39000	39000	
4	Light Petroleum Spirit	7.5 Ltrs.	Each 2.5 ltr 13000/-	39000	13650	40950	13780	41340	
5	Silver Nitrate	200 Gram	Each 100grm27875/-	55750	29268	58536	29547	59094	
6	Glycerol	7,5 Ltrs.	Each 2.5 ltr 14867/-	44600	15610	46830	15758	47274	
7	Magnesium Oxide	01 Kg	Each 500grm 12210/-	24420	12820	25640	12940	25880	
8	Potassium Chromate	01 Kg	Each 500grm 6660/-	13320	6993	13986	7000	14000	
9	Potassium Hydroxide	20KG.	Each 500grm 3330/-	133200	3496	139840	3520	140800	
10	Sulphuric Acid	25 Ltrs.	Each 2.5 ltr 23310/-	233100	24480	244800	24700	247000	
11	Maconky Broth 40-60	05 Kg	Each 500grm 22755/-	227550	23893	238930	24130	241300	
12	Magnesium Oxide	01 Kg	Each 1000grm 27750/-	27750	29137	29137	29400	29400	
1.3	Filter Paper 18 5 cm	12 Pkts.	Each pkt 8325/-	99900	8742	104904	8800	105600	
14	Filter Paper 12.5 cm	12 Pkts.	Each pkt 7862.50/-	94350	8255	99060	8400	100800	
1,5	Brilliant Green Bite Broth	04 Kg	Each 500grm 11100/-	88800	11655	93240	11700	93600	
16	Absolute Alcohol	25 Ltrs.	Each 2.5 ltr 27750/-	277500	29138	291380	29415	294150	
17	Carbon Tetra Chloride	201.trs.	Each 2.5 ltr 27875/-	223000	29269	234152	29500	236000	
18	Di-Ethyl Ether	20 Ltrs.	Each 2.5 ltr 43206.25/-	345650	45366	362928	45700	365600	
19	Formalin as per sample	80 Kg	Each 1kg 1547.07/-	123765	1600	128000	1605	128400	

Dr. 4. De vousing (Spring)

Exist Made Contractor

So Service of the

	,		(1)		(2	·	(3		1.5
			M/s Qalauder Bux Abro &Co.		M/s. Abra Cons	tuction	M/s. Hussain Ente	erprises	Remarks
em #	Description	Req.Qty.	Quoted Rate/Unit	Amount	Quoted Rate/Unit	Amount	Quoted Rate/Unit	Amount	
	Ceiling lock as per sample	500 kg	Each 1kg 44.40/-	22200	46	23000	48	24000	
21	Water Sample bottle as per sample	5000 Nos	Each Nos 22.20/-	111000	23	115000	23.5	117500	
22	Cloth bags as per sample	25000 Nos	Each Nos 8.88/-	222000	9.5	237500	9.7	242500	
23	Candles	40 Kg	Each 1kg 1387.50/-	55500	1457	58280	1459	58360	
24	Thread	20 Kg	Each 1kg 555/-	11100	583	11660	585	11700	
25	Aluminum Dishes 100 CC Local	200 Nos.	Each Nos 38.85/-	7770	41	8200	43	8600	
26	Beaker 100 ml Pyrex / Bomer	48 Nos.	Each Nos 462.50/-	22200	488	23424	490	23520	
27	Ammonia	10 Ltrs.	Each 2.5 ltr 8325/-	33300	8742	34968	8800	35200	
28	Acetic Acid	10 Ltrs.	Each 2.5 ltr 5133.75/-	20535	5390	21560	5400	21600	
29	Barium Chlorid	1 Kg	Each 1kg 13320/-	13320	13986	13986	14127	14127	
30	Beaker 250 Pyrex / Bomer	48 Nos.	Each Nos 462.50/-	22200	486	23328	490	23520	
31	Butyrometer 8% Swiss / Germany	24 Nos.	Each Nos 13181.25/-	316350	13837	332088	13972	335328	
32	Butyrometer 10% Swiss / Germany	24 Nos.	Each Nos 11100/-	266400	11768	282432	11770	282480	
3.3	Conical Flask 250 CC Pyrex / Bomer	24 Nos.	Each Nos 1387.50/-	33300	1444	34656	1460	35040	
34	Conical Flask 500 CC Pyrex / Bomer	24 Nos.	Each Nos 1526.25/-	36630	1603	38472	1618	38832	
35	Conical Flask 1000 CC Pyrex / Bomer	18 Nos.	Each Nos 2096.67/-	37740	2202	39636	2220	39960	
36	Conical Flask 2000 CC Pyrex / Bomer	09 Nos.	Each Nos 3083.34/-	27750	3238	29142	3268	29412	
37	Crucibles 30 cc China	60 Nos.	Each Nos 277.50/-	16650	291	17460	293	17580	
38	Crucibles 50 cc China	60 Nos.	Each Nos 203.50/-	12210	214	12840	216	12960	
39	Dishes Procelein 150 ce	48Nos.	Each Nos 878.75/-	42180	922	44256	930	44640	
40	Pipette Graduated 10 ml (German / Bomax)	06 Nos.	Each Nos 2220/-	13320	2331	13986	2360	14160	
41	Pipette Volymetric 11 ml German Bomax	06 Nos.	Each Nos 1850/-	11100	1942	11652	1950	11700	

Ce L'es hour Alband Spile

De Company

100 MM ELELOC John Comments of the Comments of

- 4	4.		M/s Qalauder Bux Abro &Co.		M/s. Abra Cons	ituction	M/s. Hussain Ente	erprises	Remarks	
Item #	*Description	Req.Qty.	Quoted Rate/Unit	Amount	Quoted Rate/Unit	Amount	Quoted Rate/Unit	Amount		
42	Rubber Corks for Butyrometer Sucon Rubber	50 Nos.	Each Nos 444/-	44400	467	46700	470	47000		
43	Polanskas Flask 250 cc 24/29	06 Nos.	Each Nos 5180/-	31080	5439	32634	5490	32940		
	Test Tubes 18x150 mm	500 Nos.	Each Nos 177.60/-	88800	185	92500	187	93500		
45	Cylender Measuring 100 ml	06 Nos.	Each Nos 3081.67/-	27735	3236	29124	3266	29394		
46	Cylender Measuring 200 ml	06 Nos.	Each Nos 3330/-	29970	3500	31500	3530	31770		
47	Cotton B/Q Lilly	24 Bundles	Each Bundle 277.50/-	6660	292	7008	295	7080		
48	Cylender Measuring 500 Ml	03 Nos.	Each Nos 2775/-	16650	2914	17484	2941	17646		
49	Purchasing Generator 6 K.V	01 No.	N/Q	N/Q	N/Q	N/Q	N/Q	N/Q		
50	Funnel Simple 200 cc	12 Nos.	Each Nos 3237.50/-	38850	3399	40788	3420	41040		
51	Funnel Seperating 500 cc	03 Nos.	Each Nos 12950/-	38850	13597	40791	13730	41190		
52	Iodine Flask 500 cc	03 Nos.	Each Nos 6660/-	19980	6993	20979	7000	21000		
53	Lab Coats for Food Laboratary Officer / Staff with KMC Monogram (As per Sample)	25 Nos.	Each Nos 2308.80/-	57720	2424	60600	2435	60875		
	Total			40,00,000		4202487		4239992		

W.77

A.A.O. (F&QC) K.M.C.

Member

Thy

Public Analyst F&QC KMC Member Chief Medical Officer DMC Central

Member

Chief Food Inspector F&QC KMC

Member

Sr. Director F&QC KMC



Reference: DIR(F&QC)/KMC/590/2017 Dt 06-04-2017& DATE OF OPENING 04-05-2017

Method and procedure of procurement: Open Competitive Bidding )National/

International Competitive Bidding) (Single Stage

-One Envelope)

NAME OF WORK: PROVISION OF ESSENTIAL INSTRUMENTS OF FOOD LABORATORY

KMC (PURCHASE OF CHEMICAL AND SOLUTION)

Name of Bidder: M/s Qalandaer Bux Abro & Co,

### Bidders' eligibility / qualification report

Eligibility / Qualification Criteria:

SNO	ELIGIBILITY/QUALIFICATION CRITERIA	BIDDERS' NAME	BIDDERS' NAME	BIDDERS' NAME
1	Registration with PEC (if applicable)	M/s Qalander Bux Abro & Co.	M/s Hussain Enterprises	M/s Abra Construction Co
2	NTN	M/s Qalander Bux Abro & Co.	M/s Hussain Enterprises	M/s Abra Construction Co
3	Sales Tax Registration with FBR for Goods	M/s Qalander Bux Abro & Co.	M/s Hussain Enterprises	M/s Abra Construction Co
4	Professional Tax	M/s Qalander Bux Abro & Co.	M/s Hussain Enterprises	M/s Abra Construction Co
5	Registration with Sindh Revenue Board ( SRB ) for works and Services	M/s Qalander Bux Abro & Co.	M/s Hussain Enterprises	M/s Abra Construction Co
	Qualification Criteria :			
6	Minimum three years' experience of relevant field	M/s Qalander Bux Abro & Co.	M/s Hussain Enterprises	M/s Abra Construction Co
7	Turnover of at least last three years	M/s Qalander Bux Abro & Co.	M/s Hussain Enterprises	M/s Abra Construction Co
8	Required Bid Security is attached	M/s Qalander Bux Abro & Co.	M/s Hussain Enterprises	M/s Abra Construction Co
9	Bid is signed, named and stamped by the authorized person of the firm along with authorization letter	M/s Qalander Bux Abro & Co.	M/s Hussain Enterprises	M/s Abra Construction Co
10	Any other factor deemed to be relevant by the procuring agency subject to provision of Rule-44	M/s Qalander Bux Abro & Co.	M/s Hussain Enterprises	M/s Abra Construction Co
	Qualified / disqualified	M/s Qalander Bux Abro & Co.	M/s Hussain Enterprises	M/s Abra Construction Co

Note: The procuring agency may modify the criteria as per their requirement

A.A.O.(F&QC)

K.M.C.

Member

Public Analyst F&QC KMC Member

Chief Medical officer

F&QC KMC -Member

Chief Food Inspector F&QC KMC Member

Sr.Director F&QC KMC Chairman Reference: DIR(F&QC)/KMC/590/2017 Dt 06-04-2017& DATE OF OPENING 04-05-2017

Method and procedure of procurement: Open Competitive Bidding )National/

International Competitive Bidding) (Single Stage

-One Envelope)

NAME OF WORK: PROVISION OF ESSENTIAL INSTRUMENTS OF FOOD LABORATORY

KMC (PURCHASE OF CHEMICAL AND SOLUTION)

Name of Bidder: M/s Qalandaer Bux Abro & Co,

### Bidders' eligibility / qualification report

#### Eligibility / Qualification Criteria:

SNO	ELIGIBILITY/QUALIFICATION CRITERIA	BIDDERS' NAME	BIDDERS' NAME	BIDDERS' NAME
1	Registration with PEC (if applicable)	M/s Qalander Bux Abro & Co.	M/s Hussain Enterprises	M/s Abra Construction Co
2	NTN	M/s Qalander Bux Abro & Co.	M/s Hussain Enterprises	M/s Abra Construction Co
3	Sales Tax Registration with FBR for Goods	M/s Qalander Bux Abro & Co.	M/s Hussain Enterprises	M/s Abra Construction Co
4	Professional Tax	M/s Qalander Bux Abro & Co.	M/s Hussain Enterprises	M/s Abra Construction Co
5	Registration with Sindh Revenue Board ( SRB ) for works and Services	M/s Qalander Bux Abro & Co.	M/s Hussain Enterprises	M/s Abra Construction Co
	Qualification Criteria:			
6	Minimum three years' experience of relevant field	M/s Qalander Bux Abro & Co.	M/s Hussain Enterprises	M/s Abra Construction Co
7	Turnover of at least last three years	M/s Qalander Bux Abro & Co.	M/s Hussain Enterprises	M/s Abra Construction Co
8	Required Bid Security is attached	M/s Qalander Bux Abro & Co.	M/s Hussain Enterprises	M/s Abra Construction Co
9	Bid is signed, named and stamped by the authorized person of the firm along with authorization letter	M/s Qalander Bux Abro & Co.	M/s Hussain Enterprises	M/s Abra Construction Co
10	Any other factor deemed to be relevant by the procuring agency subject to provision of Rule-44	M/s Qalander Bux Abro & Co.	M/s Hussain Enterprises	M/s Abra Construction Co
	Qualified / disqualified	M/s Qalander Bux Abro & Co.		

Note: The procuring agency may modify the criteria as per their requirement

K.M.C.

Member

Public Analyst F&QC KMC Member

Chief Medical officer F&QC KMC Wember

Chief Food Inspector F&QC KMC Member

F&QC KMC Chairman

Jaled: 4/5/2017

Susject:- Attendance of Procurement Committee.

Reference:- No. SR. DIR (HRM)/KMC/976/2017 Dated: 11-04-2017

S.#	Committee Member		Signature
1	Senior Director , F&QC, KMC	Chairman	- MM/or
2	Public Analyst, F&QC, KMC	Member	Tehr.
3	Chief Medical Officer, DMC (Central)	Member .	Alelower
4	Chief Food Inspector, F&QC, KMC	Member	- W. 1
5	Asstt. Accounts Officer, F&QC, KMC	Member	M. 24

Dated: 4/5/17

Attendance of Participant for opening of bids Tender Schedule.

Reference:- No.

S.#	Name of Companies	Signature
-1	M/S. Qalande, Bur Above co.	Dan.
2	M/g. Axa Court: + Co.	belig
3	M/s. Hussain Enty:	2/
4		*/
5		

#### **BID EVALUATION REPORT**

1. Name of Procuring Agency: Karachi Metropolitan Corporation.

2. Tender Reference No: DIR(F&QC)/KMC/590/2017 Dt 06-04-2017

Work/ Item

Provision of essential instruments of Food 3. Tender Description/Name of work

Laboratory KMC (Civil and Electrical work of

Laboratory )

4. Method of Procurement Single Single- One Envelope Procedure

5. Tender Published Through press/Website SPPRA/KMC

6. Total Bids documents Sold Three

7. Total Bids Received Three

8. Technical Bid Opening date (if applicable) Nil (provide details in separate form)

9. No. of Bid Technically qualified (if applicable)

10. Bid (s) Rejected: Nil

11. Financial Bid Opening date 04-05-2017

12. Bid Evaluation Report:

S.#	Name of Firm or Bidder	Cost of offered by Bidder	Ranking in terms of cost	Comparison with Estimated cost	Reasons for acceptance/ rejection	Remarks
1	M/s Qalander Bux Abro & Co.	Rs.39,93,720/-	1 <sup>st</sup> Lowest	At par /Above / Below the estimated cost	Qualified as per evaluation criteria	Recommended for award of work
2	M/s Hussain Enterprises	Rs.40,41,000/-	2 <sup>nd</sup> lowest	At par /Above / Below the estimated cost		
3	M/s Abra Construction Company	Rs.40,62,600/-	3 <sup>rd</sup> lowest	At par /Above / Below the estimated cost		

RECOMMENDATIONS: The offered amount of @ Rs. 39,93,720/-(Rupees Thirty nine Lac ninety three thousand seven hundred and twenty only ) of M/s Qalander Bux Abro & Co, Karachi , is recommended by the committee to award them work being the first lowest.

.O.(F&OC) K.M.C. Member

Public Analyst F&QC KMC Member

Chief Medical officer F&QC KMC

Member

Chief Food Inspector F&QC KMC

Member

# COMPERATIVE STATEMENT (C) CIVIL & ELECTRICAL WORK OF LABORATORY

1000
10
1-17
1

15			(	1)	(2)		(	3)	
			M/s.Qalauder	Bux Abro &Co.	M/s.Hussain En	terprises	M/s. Abra Con	stuction	Remarks
em	Description	Req.Qty.	Quoted Rate/Unit	Amount	Quoted Rate/Unit	Amount	Quoted Rate/Unit	Amount	
1.	Water Bath Repair & Maintenance	01 Unit	208000	208000	208500	208500	209000	209000	
2	Centrifuge Machine Repair & Maintenance	01 Unit	175600	175600	180000	180000	185000	185000	
3.	Oven Memmart Repair & Maintenance	01 Unit	56000	56000	58000	58000	59000	59000	
4.	Weighing Balance Machine, Repair & Maintenance	01 Unit	35500	35500	35700	35700	36000	36000	
5.	Auto Clave Repair & Maintenance	01 Unit	242320	242320	244000	244000	245000	245000	
6.	Incubator Repair & Maintenance	01 Unit	110000	110000	112000	112000	113000	113000	
7.	Repairing & Maintenance of Food Lab Generator 4-KVA	01 Unit	78400	78400	80000	80000	82000	82000	
8.	Photo Copy Machine Canon 1215 Repairing & Maintenance	01 Unit	48000	48000	48500	48500	49000	49000	
9	Electronic Typewriter Repairing & Maintenance	01 Unit	11500	11500	11550	11550	11600	11600	
10	Manual Typewriter Repairing & Maintenance	02 Unit	6900	6900	7200	7200	7500	7500	
11	Refrigerator Dowlance Repairing and Maintenance	01 Unit	25000	25000	26000	26000	26500	26500	
12	A/C Window Repairing and Maintenance etc	01 Unit	23000	23000	24500	24500	24000	24000	
13	Roof Top Flooring and Plaster		625500	625500	626000	626000	626500	626500	
14	Repairing of Aluminum Windows & Wood Doors		132000	132000	133000	133000	134000	134000	
15	953 (V. 1974) - 1		146000	146000	146500	146500	147000	147000	
	Fall Selling with LED Lights		238000	238000	238550	238550	239000	239000	
	Full Building White Was		700000	700000	703000	703000	704000	704000	
18	Change of Windows Glass		182000	182000	183000	183000	184000	184000	
19	Repair / Maintenance of Wash Rooms		300000	300000	320000	320000	325000	325000	
20	Total Electrical Work of Building		650000	650000	655000	655000	655500	655500	
	Grand Total		3993720	3993720	4041000	4041000	4062600	4062600	

A.A.O. (F&QC)

K.M.C. Member Public Analyst F&QC KMC

Member

**Chief Medical Officer DMC Central** Member

**Chief Food Inspector** F&QC KMC

Member

Sr. Director F&QC KMC Chairman

#### International Competitive Bidding) (Single Stage -One Envelope)

#### SUBJECT: PROVISION OF ESSENTIAL INSTRUMENTS OF FOOD LABORATORY KMC (CIVIL AND ELECTRICAL WORK OF LABORATORY )

Name of Bidder:

M/s Qalandaer Bux Abro & Co,

## Bidders' eligibility / qualification report

Eligibility / Qualification Criteria:

SNO	ELIGIBILITY/QUALIFICATION CRITERIA	BIDDERS' NAME	BIDDERS' NAME	BIDDERS' NAME
1	Registration with PEC (if applicable)	M/s Qalander Bux Abro & Co.	M/s Hussain Enterprises	M/s Abra Construction Co
2	NTN	M/s Qalander Bux Abro & Co.	M/s Hussain Enterprises	M/s Abra Construction Co
3	Sales Tax Registration with FBR for Goods	M/s Qalander Bux Abro & Co.	M/s Hussain Enterprises	M/s Abra Construction Co
4	Professional Tax	M/s Qalander Bux Abro & Co.	M/s Hussain Enterprises	M/s Abra Construction Co
5	Registration with Sindh Revenue Board ( SRB ) for works and Services	M/s Qalander Bux Abro & Co.	M/s Hussain Enterprises	M/s Abra Construction Co
	Qualification Criteria:			
6	Minimum three years' experience of relevant field	M/s Qalander Bux Abro & Co.	M/s Hussain Enterprises	M/s Abra Construction Co
7	Turnover of at least last three years	M/s Qalander Bux Abro & Co.	M/s Hussain Enterprises	M/s Abra Construction Co
8	Required Bid Security is attached	M/s Qalander Bux Abro & Co.	M/s Hussain Enterprises	M/s Abra Construction Co
9	Bid is signed, named and stamped by the authorized person of the firm along with authorization letter	M/s Qalander Bux Abro & Co.	M/s Hussain Enterprises	M/s Abra Construction Co
10	Any other factor deemed to be relevant by the procuring agency subject to provision of Rule-44	M/s Qalander Bux Abro & Co.	M/s Hussain Enterprises	M/s Abra Construction Co
	Qualified / disqualified	M/s Qalander Bux Abro & Co.	M/s Hussain Enterprises	M/s Abra Construction Co

Note: The procuring agency may modify the criteria as per their requirement

A.A.O.(F&QC) K.M.C.

Public Analyst F&QC KMC Member Member

Chief Medical officer DMC (C) Member

Chief Food Inspector F&QC KMC Member

Sr.Director F&QC KMC Chairman



MINUTES OF MEETING OF PROCUREMENT COMMITTEE, FOR PROCUREMENT OF FOOD & QUALITY CONTROL DEPARTMENT'S WORKS FOR THE YEAR 2016-2017 FOR OPENING WORK OF EVALUATION OF BID HELD ON 04-05-2017AT 2.30 P.M. IN THE OFFICE OF THE SENIOR DIRECTOR FOOD & QUALITY CONTROL, DEPARTMENT. K.M.C (CHAIRMAN PROCUREMENT COMMITTEE).

The meeting of Procurement Committee for opening of Civil / Electrical/Horticultural bid and Evaluation of Civil/electrical/horticultural proposal for procurement of the following works was held on 04-05-2017 at 2.30 P.M. In The Office Of The Senior Director Food & Quality Control, Department. K.M.C

S.NO.	NAME OF WORKS				
3 (NIT)	PROVISION OF ESSENTIAL INSTRUMENTS OF FOOD LABORATORY KMC ((CIVIL AND ELECTRICAL WORK OF LABORATORY)				

The Procurement Committee constituted by the Competent Authority under No. letter No. Sr. Dir (HRM)/ KMC/ 2017/976, dated 11-04-2017:-

1.	Senior Director, F&QC, KMC	Chairman
2.	Public Analyst, F&QC, KMC	Member
3.	Chief Medical Officer, DMC(Central)	Member
4.	Chief Food Inspector, F&QC, KMC	Member
5.	Asstt.Accounts Officer, F&QC, KMC	Member

PROCEDURE: Single stage one envelope bidding procedure:

The Tender Notice was through website SSPRA/KMC with the above mentioned work proposal opening dated 04-05-2017 and also hoisted on the Sindh public Procurement Regulatory Authority Government of Sindh, Karachi vide his SPPRA Serial No. \_\_\_\_\_ The Bidding documents were available for sale at the office of the Office Of The Senior Director Food & Quality Control, Department. K.M.C. the work proposal was opened on 04-05-2017 in the presence of the bidders or their authorized representatives, as under:-

S.NO.	NAME OF FIRMS (whose purchased the bidding form/documents)
1	M/s Qalander Bux Abro & Co.
2	M/s Hussain Enterprises
3	M/s Abra Construction Co

#### BIDDERS FOR CIVIL/ELECTRICAL/HORTICULTURAL WORKS:

1	M/s Qalander Bux Abro & Co.	
2	M/s Hussain Enterprises	
3	M/s Abra Construction Co	

All tenders were received from the above bidders on after through press/Newspapers, Daily Jung dated 12-04-2017 & Pakistan Observer dated 12-04-2017 & KMC /SSPRA upto 2-5-2017 during office hours, the Committee accept with the concerned of the participants. The work proposal were opened on 4-5-2017 at 2.30 PM in presence of all the bidders or their representatives. The committee evaluated the said proposals .

As per evaluation reports, the all firms have fulfilled the requirements mentioned in the criteria of tender for procurement of civil / electrical / horticultural .

The bidder status is as under :

For the work at Sr. No. 3 (C) PROVISION OF ESSENTIAL INSTRUMENTS OF FOOD LABORATORY KMC (CIVIL AND ELECTRICAL WORK OF LABORATORY)

1	M/s Qalander Bux Abro & Co.	Rs.39,93,720/-	1 <sup>st</sup> Lowest
2	M/s Hussain Enterprises	Rs.40,41,000/-	2 <sup>nd</sup> lowest
3	M/s Abra Construction Company	Rs.40,62,600/-	3 <sup>rd</sup> lowest

RECOMMENDATIONS: The offered amount of@ Rs. 39,93,720/-(Rupees Thirty nine Lac ninety three thousand seven hundred and twenty only ) for M/s Qalander Bux Abro & Co, Karachi, is recommended by the committee to award them work being the first lowest.

K.M.C.

Member

**Public Analyst** 

F&QC KMC

Member

Chief Medical officer

F&QC KMC

Member

**Chief Food Inspector** 

F&QC KMC

Member

F&QC KMC

Dated: 4/5/20

Su ject:-Attendance of Procurement Committee.

Reference:- No. SR. DIR (HRM)/KMC/976/2017 Dated: 11-04-2017

S.#	Committee Member		Signature /
1	Senior Director , F&QC, KMC	Chairman	- MM/or
2	Public Analyst, F&QC, KMC	Member	Teh.
3	Chief Medical Officer, DMC (Central)	Member	Allow
4	Chief Food Inspector, F&QC, KMC	Member	2,0
5	Asstt. Accounts Officer, F&QC, KMC	Member	0.2

Dated: 4/5/1-

## Attendance of Participant for opening of bids Tender Schedule.

-Reference:- No.

S.#	Name of Companies	Signature
1	M/S. Oalande, Bux Abrol co.	Davin.
2	Alls. Ara Court: + Co.	bli
3	MIS Hussain Ently	0/1
4		1
5		